Name

Date


Answer the question. Explain your answer.

1. Which key is longer: 5 cm or 2 in.?

2. Which package is heavier: 90 g or 3 oz?

Complete the statement. Round to the nearest hundredth, 
if necessary.


3.

[image: image1.wmf]500 cm

= _____m
4.

[image: image2.wmf]9 qt

= _____c


5.

[image: image3.wmf]10 ft


[image: image4.wmf]   ?   

»

m
6.

[image: image5.wmf]2000 m


[image: image6.wmf]   ?   

»

ft


10.
A hurricane has a large eye of about 80 miles. How many kilometers wide is the eye?

Complete the statement using 
[image: image7.wmf]< >

or .



11.

[image: image8.wmf]3 kg    ?    100 oz


12.

[image: image9.wmf]2 yd    ?    200 cm



13.

[image: image10.wmf]15 gal    ?    50 L


14.

[image: image11.wmf]100,000 cm    ?    1 mi



20.
A book is 15 centimeters long and 6 centimeters wide. What are the length and width of the book in inches? Round your answers to the nearest hundredth.


21.
You have a liter bottle of orange juice. You want to divide the juice into one-cup amounts. How many cups can you pour? How much juice will be left over? Explain your answer.

[image: image12.png]dfdil‘ Game Review what you learned in previous grades & lessons
Find the percent of the number. (Section 5.6)
37. 25% of 120 38. 65% of47 39. 120% of 15 40. 3.2% of 80

41. MULTIPLE CHOICE What is the area of a parallelogram with a base of
15 centimeters and a height of 12 centimeters?  (Section 4.1)

® 90em? ® 175cm? © 180cm? © 205cm?




37. ________

38. ________

39. ________

40. ________
Practice A
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